60 B F

AZOvY
1 2 3 taR
1 |=88-£/ (KTC+ FHHETC) 6-2 6-1 1
2 |BHE-NO ] 1-6 3
3 k-8R (rete-7u—) | 1-6 6-1 2
BZEOvY
1 2 3 S
1 E}ﬁi& . % E (EHHRRD BRATA) 6-0 6—1 1
2 |EE- I (FULEE|  0-6 6-1 2
3 |h@A-Iik (Y= 5 LFH) 1-6 1-6 3
JEGLb—F A+
1RLb—F Ak
1 =§f8-2£m[\ (KTG- BHETC)
Whi - %&H
2 E}ﬁi& . % H CEBEHRD - RHA A
2 b—F ATk
1 k8K (TeTC-7Y—) 5
P k- K
2 THE-IK (5 LTHE)
fFLk—F AV
1 BEA-)aQa (IN—2-PPP) 6
2 ER-)o
2 HE-TIik (FU— ) LFHE)
70mBF
1 2 3 e
1 EH-EA (FY—-JY L) 1-6 6-5 2
2 % i}i . *E % (F£T72—RHA—Y) 6-1 6-3 1
3 |FME-¥H (A=F4-RIzV) 5-6 3-6 3




